;> with(LinearAlgebra) :

| > phi = xi — piecewise(xi >-1andxi <0,1 +xi,xi >20andxi <1,1—xi,0) :

| > plot(phi(xi),xi=-1..1):

| > X := Matrix(3,1, [0.,0.5,1.]) :

> Phi = Matrix(3, 1, [phi(Ls[l’l]),phi(Ls[z’l]),phi(Ls[&l])D :
> plot([Phi[1, 1], Phi[2, 1], Phi[3,1]],x=0..1);
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=> K = subs(EA=1.0e7, Matrix(2, 2, [int(EA-diff (Phi[2, 1], x) -diff (Phi[2, 1], x),x=0..1),
int(EA-diff (Phi[2, 1], x) -diff (Phi[3, 1], x),x=0.5..1.), int(EA-diff (Phi[3, 1], x)

-diff (Phi[2, 1], x),x=0.5..1.), int(EA-diff (Phi[3, 1], x) -diff (Phi[3, 1],x),x=0.5..1.) ]

| ))

> f:= subs(p0=1.0e4, F2=1.0e4, F3=1.0e4, Matrix(2, 1, [int(p0- (1 —x)- Phi[2,1],x=0
_ W) +F2int(p0- (1 —x)-Phi[3,1],x=0.5.1.) +F3])) :

| > U := Multiply(MatrixInverse(K), f) :

| > u:=Phi[1,1]-0 + Phi[2,1]-U[1, 1] +Phi[3,1]-U[2,1]:
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;> uexata = subs(p0=1.0e4, F=1.0e4, L=1, EA=1.0e7, Uexata) :
> plot([u, uexatal, x=0..1,y=0..0.003);
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